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3.1.1

(1)

10

(2)

©3)

1975 2000
2000 20
2000 20
2000 20
2000 20
25000 1/25,000
50m
1/5 1/50,000
1/100,000 2000
1/5 1/50,000 |1960 1989
1/100,000 1970
1/50,000 1979
1980
TRABIS
1/200,000
1/50,000 |1982 1989
1/10
1/200,000 1995
1974 1998 22
1985 1998 10
S61
1/50,000 2000
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3.1.2
1)

)

(3)

3.2
1)

3.1.1(4)

2

3.3
3.3.1
(1)

2

120

3)

120

pH

(4)

12

12




(6)

50

15

10

60

2
No. ) (m)*1
1 32 8 50
2 20
3 11 171 30
4 8 12.7 30
5 2 9 20
6 15 4 20
7 25 | 50
8 30
9 150
10 2 20
11 20
12 20
*1
5)

JISK 0102 7.2

PH

JISK 0102 12.1

(Do)

JIS K 0102 32.1

JIS K 0102 13

JIS K 0102 48.2

JIS K 0102 49.2

JIS K 0102 50.2

JIS K 0102 51.2

JIS K 0102 57.4

ICP

JIS K 0102 56.4

ICP

JIS K 0102 35.3

pH4.8

JIS K 0101 13.1

JIS K 0102 41.3

JIS K 0102 43.2.5

-2-14.2

JIS K 0102 42.1 42.2
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